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الرياضيات 

جمع الأعداد الصحيحة 
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ورقة عمل 

الرياضيات 

:جد ناتج ما يلي، ومثل الناتج على خط الأعداد: 1س

①   − 3 + 7 =

②  − 4 +  −2 =

③    − 5 + 5 =

④     2 +  −6 =

⑤     3 + 3 =
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ورقة عمل 

الرياضيات 

:جد ناتج ما يلي: 2س

①   17 + (−50) =

②  (−36) + 36 =

③   − 48 + (−100) =

④     125 + 25 =

⑤    − 50 + 12 =

⑥    |−80| + 80 =

⑦    17 + |−15| =
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ورقة عمل 

الرياضيات 

:جد ناتج ما يلي، ومثل الناتج على خط الأعداد: 1س

①   − 3 + 7 = 4

②  − 4 +  −2 = −6

③    − 5 + 5 = 0

④     2 +  −6 = −4

⑤     3 + 3 = 6

−3 −2 −1 0 1 2 3 4 

وحدات لليمين 7

−4 

−6 −5 −4 −3 −2 −1 0 1 

لليسار وحدتان

−7 

−6 −5 −4 −3 −2 −1 0 1 

وحدات لليمين 5

−7 

−3 −2 −1 0 1 2 3 4 

ساروحدات للي 6

−4 

−2 −1 0 1 2 3 4 

مينوحدات للي 3

5 6 
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ورقة عمل 

الرياضيات 

:جد ناتج ما يلي: 2س

①   17 + (−50) = −33

②  (−36) + 36 = 0

③   − 48 + (−100) = −148

④     125 + 25 = 150

⑤    − 50 + 12 = −38

⑥    |−80| + 80 = 160

⑦    17 + |−15| = 32




